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GENERAL STUDIES (PAPER-I)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are TWENTY-FIVE questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in medium other than the authorized
one.

Word limit in questions, if specified, should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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et 3 I arae ¥ TR wee wim & waEr 7w | I A Rem-awg wee €A @ st wew g

Answer questions in NOT MORE than the word limit specified for each in the
parenthesis. Content of the answer is more important than its length.

=P Wi 3 e SR 6 g @ siftes vl 7 B9 ge oft @ wifde 3@ W R i |
sl Ty &1 st vl St # aviw wear 31 Roaeft fifse) (200 =)

Though not very useful from the point of view of a connected political history of
South India, the Sangam literature portrays the social and economic conditions of
its time with remarkable vividness. Comment. (200 words)

(@) R s feret § eifea awea’ 3@ & faesm Sk (100 3=)
Discuss the ‘Tandava’ dance as recorded in early Indian inscriptions.
(100 words)

(b) W aRgEA % faehE # wie agE 3= I 2| foEean fife (100 W)
Chola architecture represents a high watermark in the evolution of temple
architecture. Discuss. (100 words)

aﬂg,%ﬂﬁ%ﬂﬁ%a‘aﬁﬁaﬁﬁaﬂ,ﬂﬁ?ﬁqnﬁaﬁmaﬁwwmﬁwﬂaﬁr%%%m
Fifw| (200 =)

Defying the barriers of age, gender and religion, the Indian women became the torch-
bearer during the struggle for freedom in India. Discuss. (200 words)

. 3 FRRE Y s # wwew, fafim e o fomn | et e qum A SR e S
Trgerwor i) (200 w==)

Several foreigners made India their homeland and participated in various
movements. Analyze their role in the Indian struggle for freedom. (200 words)

“IFE TER § S Suast 3 gt wid AT wh ot sren fifsel (200 w1=)
“In many ways, Lord Dalhousie was the founder of modern India.” Elaborate.
(200 words)

Wﬁﬂmm%wamm%ﬁﬁﬁwmﬁ%ﬂﬁﬁ
GEAdl T e S| (200 1)

Critically discuss the objectives of Bhoodan and Gramdan Movements initiated by
Acharya Vinoba Bhave and their success. (200 words)

‘S S 9 BRER TR % 3eWa SR Wew W Uh eHmeners o fafenl (200 )
Write a critical note on the evolution and significance of the slogan, ‘Jai Jawan
Jai Kisan’. (200 words)

FEaEl-gd @ Tl 3d W A HICHT STgel FelH TS & Anerl st fad=m i) (200 =)
Discuss the contributions of Maulana Abul Kalam Azad to pre- and post-
independent India. (200 words)

<7 qRfEfEt 5 Rreor iRt Ris Sro @ 1966 # AIehs GaEial gaT| e i fftreded 6
foa=m fifsw) (200 v=s)

Analyze the circumstances that led to the Tashkent Agreement in 1966. Discuss the
highlights of the Agreement. (200 words)
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19,

3 Rt 1 e T ST R RO W it aneney % 389 § Huttash e
g =t wenl (200 7=1)

Critically examine the compulsions which prompted India to play a decisive role in
the emergence of Bangladesh. (200 words)

“forer @ R T AT SN i § oUW s oft 9 S oufand S % srgwEl ¥ faega e
1" feyewo Fifswl (200 )

“‘Latecomer’ Industrial Revolution in Japan involved certain factors that were
markedly different from what West had experienced.” Analyze. (200 words)

‘it gfoemat 1 geferedl g ki w whm wu A Fffa sR-sR tsE ® wr e mn”
fwawn Fifsul (200 1)

“Africa was chopped into States artificially created by accidents of European
competition.” Analyze. (200 words)

“amlh i, afterae & fovg = nfis fasie a1’ @ *em & g fNTl (200 =)
“American Revolution was an economic revolt against mercantilism.” Substantiate.
(200 words)

il Hemd @ fae & fau f Aftra wemt & wm TR mn an? (200 =)

What policy instruments were deployed to contain the Great Economic Depression?
(200 words)

qRd § g sede ufEkm 4 fe fftm amfe areet & s T, s eem i
(200 wsg)

Discuss the various social problems which originated out of the speedy process of
urbanization in India. (200 words)

“rfgen el B -8 & 7w B fog gedl B wewar w seEn e wtee)”’ et difsm
(200 w==)

“Male membership needs to be encouraged in order to make women’s organization
free from gender bias.” Comment. (200 words)

WA § g8 SEYE | R F g9 F SEREAEES W S| (200 w69)
Critically examine the effect of globalization on the aged population in India.
(200 words)

i 6 Sgdt g We, guE USa hl " H WgE w0 | fesen Rl (200 =)
Growing feeling of regionalism is an important factor in generation of demand for
a separate State. Discuss. (200 words)

(@) ‘werdidt foeemes’ % Regra @ ang w1 GHe 37 TEh UM H WyE wiedl whi feer i |
(100 71=2)
What do you understand by the theory of ‘continental drift’? Discuss the
prominent evidences in its support. (100 words)
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20.

21.

22,

23.

24.

25.

(b) WTa ¥ T a2 W Eel € § 3T ward ® FiEfer’ (Phailin) 1 W01 HER SRS
Tgharal & S8 A9 G S 27 R 8 adu) (100 )

The recent cyclone on east coast of India was called ‘Phailin’. How are the
tropical cyclones named across the world? Elaborate. (100 words)

(@) TER % wed fam-Tum § a-gd & 944 % SR St (100 w06)
Bring out the causes for the formation of heat islands in the urban habitat of
the world. (100 words)

(b) Hrem-fgm § A SR’ B g e R e 87 36 T ok Hed gt Farket w
Tz Y gwifed T &7 (100 758) :

What do you understand by the phenomenon of ‘temperature inversion’
in meteorology? How does it affect weather and the habitants of the place?
(100 words)

Tt e # g T aeql 20-30 fft SE e W SR AEE & ufim A R o gL
(200 w=3)

Major hot deserts in northern hemisphere are located between 20-30 deg N
latitudes and on the western side of the continents. Why? (200 words)

(@) e Bz 1 gorn § R # sEaem R g F TR B B % S T4aE) (100 W)
Bring out the causes for more frequent occurrence of landslides in the
Himalayas than in the Western Ghats. (100 words) )

(b) ufem e fi Afeai Seer & S| H=i? (100 w=1)
There is no formation of deltas by rivers of the Western Ghats. Why? (100 words)

(a) 0 ST 3W A A FeHd & T v & sl Tedt # A < B @en gl @g @ Rt
“aa feeem #il (100 wsE)
Do you agree that there is a growing trend of opening new sugar mills in
southern States of India? Discuss with justification. (100 words)

(b) WRA # A-Redslipa gelt-shue Ui R T # wH B e Rl (100 W)
Analyze the factors for the highly decentralized cotton textile industry in India.
(100 words)

St S B Tedt g Tl F HR ARA § ) e B A A 99 T @) ey Sl
TN % T s F= W il WA F guR # Sqesyd i faaem Fiml (200 T58)

With growing scarcity of fossil fuels, the atomic energy is gaining more and more
significance in India. Discuss the availability of raw material required for the
generation of atomic energy in India and in the world. (200 words)

g w1 ST 2 T e & S B 25 o Y armvEeRar- Rt % for fren-de o W w1 @i e 2
qorft, et i et o e s e W AR T e Rt s Qo e e
AT R AR (200 W) et

It is said that India has substantial reserves of shale oil and gas, which can feed the
needs of the country for quarter century. However, tapping of the resource does not

appear to be high on the agenda. Discuss critically the availability and issues
involved. (200 words)

* %k k
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_ Questlon Paper Specxfic Instructlons | “
b Please read each of the followmg mstructwns carefully before attemptmg questwns
| There are TWENTY-FIVE questwns pnnted both m HINDI and i m ENGLISH o
-_ All the questwns are compulsory ' ' |

L The number of marks carned by a questwn / part is mdwated agamst it.

: Answers must be wrztten in the medium authorzzed in the Admission Certtﬁcate whwh must be
stated clearly on the cover of this Questwn cum-Ansier (QCA) Booklet in the space prouzded
marks will be gwenﬁfor answers written Ln a medtum other than the authorzzed one.: L

Word lzmu‘ in questwns, wherever speczﬁed should be adhered to .

Any page or portwn of the page leﬁ‘ blank in the Questwn-cum-Answer Booklet must be clearly
: struck oﬁ ‘ ‘ . : .
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mﬁm%maﬁmﬁmzw m#w@waﬁﬁ#aﬁwmaﬂwﬁgaﬁ#m

#mwﬂélmmimm?/ | |
Answer all the questions in NOT M ORE THAN 150 words each Contents of the answer are

more important than its length. All questions carry equal ‘marks. . 10x25=250

ﬁgu@mﬁmmmmﬁmmwwwm

R (7)) wer PRy st Al
To what extent has the urban planmng and culture of the Indus Valley
Civilization provided inputs to the present day urbanization ? Discuss. 10
Q2. ,wgﬁwmﬁaﬁﬁa‘ﬁmﬁﬁmﬁsﬁﬁﬁ%aﬁwﬁﬁﬁeﬁ lwa o

Gandhara sculpture owed as much to the Romans as to the Greeks Explam 1 0

Qs. . ammmm%mmﬁammmmﬁm;
et (%%ﬁm)%mﬁ@mﬁaﬁwﬁmmﬁaﬁ | ueht wrifas
- cEferfy & s st i S, e e % fawdi, aﬁsngﬁaaaﬁmﬁ,‘

3 ﬁwﬁmmaﬁmmlaa‘?aﬁml

‘Taxila umversﬂ:y was one of the oldest umversxtles of the World w1th Whlch

were associated a’ number of renowned learned personalltles of different’
disciplines. Its strategic location caused its fame to flourish, but unlike :
Nalanda, it i is not cons1dered asa umversn:ymthe modem sense. Discuss. 10

Q4. Wmﬂv%l?elﬁ@wmlwm%%wmﬁmm_
. cemE TH@ AT off 7

The third battle of Panipat was fought in 1761 Why were so many
empxre sha.kmg battles fought at Pampat ? Coe e . ‘ 10

st g she e T e T (6) mfwm%mﬁwmﬁ} -
ﬁﬁﬁﬁaﬁmmﬁwmaﬁwﬁ@ﬁmmmﬁamﬁﬁm@lﬁmﬁ -
HfST |

; o Sufis and medieval mystic saints faﬂed to modlfy either the religious ideas and
practices or the outward structure of Hindu/ Mushm societies to any ‘
apprec1able extent. Comment - : — . 10

[CoRnnNaTUA) 2



Q6.

Q.

‘Wﬁmﬁm%mémwaﬁﬁaﬁwﬁmm%ﬁﬁawﬁm

m@wwﬁmﬁﬁm

' Examine critically the various facets of economic pohc1es of the Br1tlsh in’ Indla

from m1d-e1ghteenth century t111 mdependence ‘

""ﬁnmﬁﬁsﬁa:easmwaaﬁmﬁqﬁaﬁmmmemmﬁ

alﬁarﬁnaﬁaerhagmm?

"In what ways did the naval mutmy prove: to be the last na:l in. the coﬂin of

@s.

Bntlsh colonial- asplratlons in Indla ?

-ﬁﬁﬁﬂﬁﬂﬁﬂﬂg@mﬁm aﬁmﬂzmmnesea‘rﬁmﬁ

iR (i) d @ e By

" What were the’ major ‘political, economic and soc1a1 developments 1n the world

Q.
- msﬁwﬁmmaﬁmmﬁm?

wluch mot1vated the ant1 colomal struggle in Indla ?

'—'1956aeammammanmwsom@mm%wﬁmx

10

T

10‘-"

" What were the events that led to. the Suez Crisis in- 1956 ‘? How d1d 1t deal a.

-~ final blow to Bntam 5 self—unage as a world power ?

- QL1

Q12

.. The New Economic Policy — 1921 of Lenm had mﬂuenced the pohc1es adopted
= ._'Aby Ind1a soon afcer mdependence Ehraluate

. gi_o;{:eeqaaaaanﬁfwﬁ 1921ﬁwm%sﬁaqﬁmmmmmné:ﬁﬁﬁ

ﬁmﬁa%mmlwﬁml

Wﬁ@mmmmﬁmﬁﬁﬁw(&@aﬁ)mm
Sy @ -

How does patnarchy 1mpact the p051t1on of a ‘middle class workmg woman m
Ind1a ? g § T ' '

."jwm%%mas@mmﬁﬁﬁﬂ%waﬁ%ﬁmuﬁﬁ

aﬁwam%vmﬁa%ﬂmaﬁﬁm

~Why do some of the most prosperous: regxons of India have an adverse seX ratlo ;

for women ? lee your arguments.

- _'['C—D-RN-N-_ITUA] ;' o 3

.,-.‘_:1,0‘
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Q18

'. The life cycle. of a joint family’ depends on economlc factors rather than soc1a1 ‘
; values D1scuss - . : : t

Q14.'ﬁaaﬁmnsimﬂzmﬁsmsmamafasq Gﬁmﬁrﬁﬁﬁ%aﬁ'

g e B AR R E

Q15.
- Q6.

T _El Nmo eﬁ‘ect ‘Do you agree ? ?

Q17.

Q8.

Q19.

'mcreasmg feminization of agriculture in Indla

'aﬁﬁﬁmmwrﬂaﬁaﬁ qfﬁaﬁamﬁa@@ﬁmmﬁm%? o
- “How do the Indian debates on: seculansm differ from the debatés in the West '3 |

_agﬁqﬂanmsﬂma%wm{aﬁ%wm%mmﬁﬁtm% | ==t

g |

Discuss the various. economic. and soc1o-cu1tura1 forces that are dnvmg

10

10

10:.

Wmmaﬁﬁamqa.ﬁmsmﬁmmaf

S € | F A E

Most of the unusual c11mat1c happemngs are explamed as'an outcome of the

mountams and the earthquakes and volcanoes.

'@ﬁﬁmw%ﬁ#mﬁmﬁ%ﬁﬁaﬁmﬁﬁm

Explain the formatmn of thousands of 1slands in Indonesmn and Phlhppmes'

, archlpelagos

' ‘_ﬂ%tﬁqﬁmﬁa@%‘ | Y ot § 7

o N Troplcal cyclones are largely confined to South China Sea, Bay of Bengal and |
_Gulf of Mexico. Why ? : .

Qz20.

rDRNN!TUA] s

'wm%%mmaﬁﬁm(@%@m mwﬁ%tﬂmﬁ%mm_ o
- et %?Wuﬁ%é@mﬁmﬁ%ﬁwam@ﬁaﬁ%aﬁamﬁ
,msﬁrﬁml |

' W'hy are the world’s fold mountam systems located along the margms of

~=continents ? Bring out the -association between the global dlstnbutwn of fold a0
L1000

IpEE

10

ﬁmﬁaﬁawm af\&wﬁa‘hw Wﬁe@aﬂtﬁﬁ%ﬁaﬁtmi'

10

it e i aatﬁgé%ma?ﬂ%mrﬁ!ﬁ () aﬂxmqﬂaaqaawﬁg L
_-%Eﬁammﬁﬁm A .

| . Bring out the relat1onsh1p between the: shrmkmg Hlmalayan glaclers and the E

- symptoms of chmate change in the Indian sub contment 10 -



i Q21

Q22.

e

mmwmﬁmammwmmmﬁqf

m%mmmwmma q&wmﬁ%zﬁ%wéaéwmf _

T&”f@QIWﬁﬁNI

) ‘Whereas the British planters had developed tea gardens a]l along the Shlvahks‘,
and Lesser Hlmalayas from Assam to Himachal Pradesh in eﬂ”ect they did not o
succeed beyond the Dax:;eelmg area. Explam

'wm%emﬁmmﬁmamwaﬁzmamme |

TR, m%aaﬁmﬁwwaﬁﬁmnﬁ? '

~Why did the Green Revolutmn in: Indla vn'tually by-pass the eastern reg10n :
.- 10

despIte fertlle soil and good avaﬂab1hty of water? .

.'ﬁﬂaﬁﬁe@mm%mmﬁmmmml

" -Account for the change in the spat1al pattern of the Iron and Steel: mdustry in’
the ‘world. :

o T B, wmwﬁﬁql -

Cntlcally evaluate the vanous resources of the oceans whlch can be harnessed_ -
‘to meet the resource cns1s in the world ' : '

'.'.mmmmmemmﬁmmwmm%v

How does India see its place in the economic space of nsmg natural Tesource

, nch Afnca ?

o CoRnnuA) 5
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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.

All the questions are compulsory.

The number of marks carried by a question is indicated against it

Answers must be written in the medium authorized in the Admission Certificate which must be stated clearly
on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No marks will be given
for answers written in @ medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Any page or portion of the page left blank in the Question-cum-Answer Booklet must be clearly struck off.
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PiHfaf&gr 9BF SM 200 unrft afS ™  #tt ~%stt i it hhYtk
Nr srfSr* 11 wft ~rf % wz ~tft f 1

Answer the following questions in not more than 200 words each. Contents of the answers are

more important than their length. All questions carry equal marks. 12/2X20=250
Q. 1 gr#r T«RIT, NMrrrzrfaijT 3AT tffa %, w ~ A t
"HRcftg WRTT 3tR QRT JMT ATT 'gfHF&CT t 1" I

The ancient civilization in Indian sub-continent differed from those of Egypt, Mesopotamia
and Greece in that its culture and traditions have been preserved without a breakdown to

the present day. Comment. 1212
Q. 2 JIRCTHSTCTKIm fATK+eTT -T N <HIMcl+ MicFT ~B, 3TTgf™ fA-ATHT
cjetfk M~ rcT Aol yfArfAar Adt trow fAVEE A
1

Mesolithic rock cut architecture of India not only reflects the cultural life of the times but
also a fine aesthetic sense comparable to modern painting. Critically evaluate this comment.
12112
Q. 3  WTcHT N fSETT  *JTTcf I ATc#SJ AT AT

How different would have been the achievement of Indian independence without Mahatma

Gandhi ? Discuss. 12/4
Q. 4 3rw(t ~TPPff 3fft wftfcRt % M iM 3Tk 3T.

<RI Xp? w cer zit | ffc: 1

Mahatma Gandhi and Dr. B.R. Ambedkar, despite having divergent approaches and strategies,

had a common goal of amelioration of the downtrodden. Elucidate. 1214
Q.5 *TRT $ fetir W ffalT

NETPT W % ferc TOT *nT<T WW R' 3ffATiT>T, 1935 % W<T
3T AT RCTT | I

It would have been difficult for the Constituent Assembly to complete its historic task of
drafting the Constitution for Independent India in just three years but for the experience

gained with the Government of India Act, 1935. Discuss. 1214
Q.6 w "rgt «r afNjtfjfai wivfor ~fgspr ? sthM~xur cflrpr =lBr$ cM
N MINT-ynA T Nf | ~TIET % 3falPT $ AFT-ijamr % ¥fHT <BeTHT

Why did the industrial revolution first occur in England ? Discuss the quality of life of the
people there during the industrialization. How does it compare with that in India at present ?
1212

C-AVZ-O-FTTZ 2



Q. 13

"7 fAr~R SFTICT ATT t?
ATCTfaTTrH'T ~TEff AMAT |

To what extent can Germany be held responsible for causing the two World Wars ? Discuss

critically. 12'2
*TRT 3 fttaTT % ft*# 3?R Vjf TTMPf %
A 3T N EAEMAT !

Describe any four cultural elements of diversity in India and rate their relative significance

in building a national identity. 12%/4
Weft*"TP~fo Tflaw ATW fl fasfacTT t 3T s Tm
APIWTT ffe t 1

Critically examine whether growing population is the cause of poverty OR poverty is the

main cause of population increase in India. \2Vi
3PT 3TRTHt g"R W 3R" t, f % "IRT T fcFTTAW,
AnfM N AW A ANcl, A sttw 11

How do you explain the statistics that show that the sex ratio in Tribes in India is more

favourable to women than the sex ratio among Scheduled Castes ? 124

*, *TRcf % *ftcR 3”r $ WTA 7|fM 3
TR T I

Discuss the changes in the trends of labour migration within and outside India in the last

four decades. 12\2
NR/eRAT *R $ ART?TW 3flT HMRICH* 5NRT AR ""Hf I
Discuss the positive and negative effects of globalization on women in India. 1214

A w f W tl fk ¥~R AclcT WPT (~fa) % 3ffMCPT
NfeT fATT A sbnf ARMN '
Debate the issue of whether and how contemporary movements for assertion of Dalit identity
work towards annihilation of caste. 12'2
'HSRIMfl  snrreff “MrT % ~vR™Bfr "R/ f FTcf I % «reRTg3ft;
yjt"T  CIST fET << WIRd WRcft f 2

Explain the factors responsible for the origin of ocean currents. How do they influence

regional climates, fishing and navigation ? 12\2

C-AVZ-O-FTTZ 3



Q. 15 K <=dd TO I, W]; fo# ~ ~ TAFT, 3R et -THf
APTT A AINTR-IE W@ tTW W ARt ?
Mumbai, Delhi and Kolkata are the three mega cities of the country but the air pollution is

much more serious problem in Delhi as compared to the other two. Why is this so ?

12/4
Q. 16 "RT 3RT"ReT (T ~TCT) RITSFIt $ # H t | W ATTT
t CTmFT % t 1
India is well endowed with fresh water resources. Critically examine why it still suffers
from water scarcity. 12\
Q. 17 N AT 3fk* fBHNd 3HT -3TRIWS % TINT SFFft
MIRIMNRto ~&=T SIHdI o> m 7 ? IrH~  Achi|ldT I
The states of Jammu and Kashmir, Himachal Pradesh and Uttarakhand are reaching the
limits of their ecological carrying capacity due to tourism. Critically evaluate. 125
Q. 18 3tn Wf wra t TTTTAWMTr cpzpjfinfr ~ AosnAT M
rt ? |
How far do you agree that the behaviour of the Indian monsoon has been changing due to
humanizing landscapes ? Discuss. 12v4
Q. 19 ‘MKcl w¥ WTcf TIR FTTcf "jivt ~ ROTT MffCT *1 Ti? I’ UPTII-71 1 A

Smart cities in India cannot sustain without smart villages. Discuss this statement in the

backdrop of rural urban integration. 12'2

Q. 20 WK #°r $ wo 3TT2fe Wef t 3T trfAfrR W

?

What are the economic significances of discovery of oil in Arctic Sea and its possible

environmental consequences ? 12/4

C-AVZ-O-FTTZ 4
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GENERAL STUDIES (PAPER-I)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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Tetietiad g+ T % I S| gs W 1 I Sfteran 200 vedt § AR e T T o 5 2

Answer all the following questions. Each question is to be answered in not more than 200
words. Each question carries equal marks.

1. SREE g WH-, W - S i w0 ge de e 6 e e
Fell &1 faedem Hifvm)

Early Buddhist Stupa-art, while depicting folk motifs and narratives successfully
expounds Buddhist ideals. Elucidate. 12%

2. ToSETR T F0led T 1 Hae @ U I g 4 eiftg fen @ aitwr ¥ wem g o 3 fee
hifs |

Krishnadeva Raya, the King of Vijayanagar, was not only an accomplished scholar
himself but was also a great patron of learning and literature. Discuss. 12%

3. ¥& T ST 6 1857 % fawa foF R el wra F wfy fifew il % feemss # w
Teayl Ui A 7

Explain how the Uprising of 1857 constitutes an important watershed in the evolution of
British policies towards colonial India. 12

4. FEcEd g H, ey d w e = & e gfkensit B gfem w5 e il

Discuss the role of women in the freedom struggle especially during the Gandhian
phase. 12%

5. @Al & fog ged § gueers S U@ HereA i & qe g ) et w e sl

Highlight the differences in the approach of Subhash Chandra Bose and Mahatma
Gandhi in the struggle for freedom. 12%

6. T ANIE TSl o T3 4 ARA™ THal 6 Ievd bl HSigell Ja hl &7

Has the formation of linguistic States strengthened the cause of Indian Unity? 12

7. afenf eufn # Sufrer-forih et mane-fufia sufifEt % T i @l % g7 g e R
1| adem FHifm|

The anti-colonial struggles in West Africa were led by the new elite of Western-educated
Africans. Examine. 1272

8. iR 1 WRA H Wislae Ay % atiaws (FR) W fRe d qw g fen 27w it

To what extent globalization has influenced the core of cultural diversity in India?
Explain. 12%

M-CSC-O-65A /61 2



10.

11.

120

13.

14.

15.

16.

17.

‘el Ieqem <l u tfE i et w1 afaar o v @ g o 21 SUgT See Ted F
T T FH H g8 Fiw)

“An essential condition to eradicate poverty 1s to liberate the poor trom the process ot
deprivation.” Substantiate this statement with suitable examples. 7+5%=12%

1 HR ¢ foh ARG # SHSiEl H eyl Sesioal’ w1 Sl 87 9Ra % wfeur # gfsiiia 9
3o % e ug@ wEuEl & giEa fif|

Why are the tribals in India referred to as ‘the Scheduled Tribes’? Indicate the major
provisions enshrined in the Constitution of India for their upliftment. 4+8=12%

AR H R Sfie el qoran < wikm gmf % wiy, ‘od TR FREE’ % IR iR wRifd wiamsu)

With a brief background of quality of urban life in India, introduce the objectives and
strategy of the ‘Smart City Programme’. 4+8%2=12%

ST RIeHe <1 AT AR 87 %1 W1 TRk ®R T e & @it % s fommn @ ger, fe 6 o
TRkt I sgal fean? s 3w A gE i)

What is the basis of regionalism? Is it that unequal distribution of benefits of
development on regional basis eventually promotes regionalism? Substantiate your
answer. 3+9=12%

a1g wefd = Fehed =B fed=m hifse qen forga &t Siomme aRedql § Sueht e 1 wE i)

Discuss the concept of air mass and explain its role in macro-climatic changes. 12°%

“femrera spEEerl % it et ya §1 wRer By e it qun sredfiser % Sugt SuE geEe |

“The Himalayas are highly prone to landslides.” Discuss the causes and suggest suitable
measures of mitigation. 12%

@@wﬁmqﬁaﬂwwmmﬁmﬁﬁﬁwwﬁmwﬁwﬁﬁml

The effective management of land and water resources will drastically reduce the human
miseries. Explain. 127

A wed | afgolt = qER w1 y-UsHiTdE e 9ga 9g T g1 Tl sRifs
South China Sea has assumed great geopolitical significance in the present context.
Comment. 12%%

IR % Yg@ TR =1¢ qwedl ¥ Aften gl g st w© #)1 e i)

Major citics of India arc becoming more vulncrable to flood conditions. Discuss. 12,

M-ESC- O-GSA/61 3 [P.T.O.



18.

19.

20.

oy Ster | o1 Uk forewor g SRIST o sieeid Y fuefi wedi o wed 7 I|es wiifetas, enfds
T Ffganet =1 udieor s

Present an account of the Indus Water Treaty and examine its ecological, economic and
political implications in the context of changing bilateral relations. 12%

G § ey o IRaed i HHESN ud geqEie @ )

Enumerate the problems and prospects of inland water transport in India. 12%e

ARG & FEI-JaV T AE Tevl H Y TomsR frwm aiEsE e geR Se e § weEe 87
In what way micro-watershed development projects help in water conservation in
drought-prone and semi-arid regions of India? 12%

* K K
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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting
questions :

There are TWENTY questions printed both in HINDI and in ENGLISH.

All questions are compulsory. |

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate whicl
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the spac
provided. No marks will be given for answers written in a medium other than th
authorized one.

Answers to questions no. 1 to 10 should be in 150 words, whereas answers &t
questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must bl
clearly struck off. .
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Q3.

Q4.

Q5.

Q6.

Q7.

Y 39 forem =i, foh qeashiel fepmmedia e i Scpsedt i &R 918 % a9 §

Trara g & 2, fore R wE fag &8 2 (150 vis)

How do you justify the view that the level of excellence of the Gupta
numismatic art is not at all noticeable in later times ? (150 words)

gErse <hifo foh Aeg-srangel el w1 wia faefed Toada 6 orn @ fhg woR
e ot | (150 ¥1sg)

Clarify how mid-eighteenth century India was beset with the spectre of a
fragmented polity. (150 words)

F1 HRO o7 fob STl yared & ofq T d-A e o Hift e
T UsHIfas agdt o Sfd g o faveame S ¥ s1E%a 8 T S 2 (150 vse)

Why did the ‘Moderates’ fail to carry conviction with the nation about
their proclaimed ideology and political goals by the end of the nineteenth
century ? (150 words)

Td TG H IUHARH IVe Weh H afufed wen-an gwend of 2 (150 358)
What problems were germane to the decolonization process in the Malay
Peninsula ? (150 words)

e 1 S e geft st wd fawe B wwem # R wer wEEer
2 ? (150 3155

How does the Juno Mission of NASA help to understand the origin and
evolution of the Earth ? (150 words) :

“gidepet wHieuliE wTE % STESE, HRE @ fawE % fau onft off safer ® 17
fod=m i | (150 wsq)

“In spite of adverse environmental impact, coal mining is still inevitable for
development.” Discuss. (150 words)

T 1 % il 1 s ifi frdh w1 gE T % g a9 2016

IS cete oy =ifia feem T o | (150 wse)

Mention the advantages of the cultivation of pulses because of which the year
2016 was declared as the International Year of Pulses by the United
Nations. (150 words)

STH-G-GSO 2

10

10

10

10

10

10

10




\

Q8. TEHT-AeT (FRITHN) aftas ey ! frm s wwifad =t 8 2 (150 752)
How does the cryosphere affect global climate ? (150 words) 1

Q9. Wrd H fafeear & @M #, T I8 Fa1 S weha1 ® 6 UsA 1 ervem wew wivwlow
FHEAN I FY TGH L 8 ? 39 gRehv & I Sergwi wfgd Hror 9ase | (150 768)

In the context of the diversity of India, can it be said that the regions form
cultural units rather than the States ? Give reasons with examples for your
viewpoint. (150 words) 1

Q10. m%m'aggﬁﬁwﬁﬁ(wﬁ.)%qﬁﬁmﬁgm%%q,mm
=1 T3 & g Taftes vaet @ € 2 (150 W)

What are the two major legal initiatives by the State since Independence,
addressing discrimination against Scheduled Tribes (STs) ? (150 words) 1

Ql1. HEWAT & Y9 it WeHT 7 haw AT I G99 ¥ § WRAT g 1 T U9
Afrere @ ?, ifig adum § of u% v wewgl e f @ 2 | afear T
$IfSTT | (250 w158

The spirit of tolerance and love is not only an interesting feature of Indian
society from very early times, but it is also playing an important part at the
present. Elaborate. (250 words) 1

Q2. T SR 5 ATRARE wra § o =0T 6 3 v 3 R s awdh
STfeaTeT Sl I =1 fe I | (250 w2

Examine how the decline of traditional artisanal industry in colonial India
crippled the rural economy. (250 words) 1

Q13. fioch vl & FiT que ¥ Widg @ 1 @Wo 3R & @19 gg 8 T AU
3l o HE Wl IATR KR | (250 we2)

Highlight the importance of the new objectives that got added to the vision of
Indian independence since the twenties of the last century. (250 words) b/

Q14. TEEFRIA <eord H fof=rdisti o HRO Fq15T qo $6eh Sg-3AHE gurEl i T
shifsT | (250 915g)

Account for variations in oceanic salinity and discuss its multi-dimensional
effects. (250 words) I

STH-G-GSO 3



)15.

216.

317,

318.

219.

320.

Yoiferem FwrEATEt Tevas &9 W el do 3cAIeh &6l o HHIY SEfeud Tl g,
Tordreent aes foermasier 2ol # | s&es fAfganert ot Tase Hife | (250 91s5)

Petroleum refineries are not necessarily located nearer to crude oil producing
areas, particularly in many of the developing countries. Explain its
implications. (250 words)

wra o WGl W g % oft weft Hem § sradsfia FeEe % Uk 9w da |
fore e wftafeda fomam St wehat 8 2 (250 15Q)

In what way can floods be converted into a sustainable source of irrigation and
all-weather inland navigation in India ? (250 words)

g TRE H Y Al GER 50 Tiwa ¥ 1fieh SHEE % WRO-Nwe § qhd
TG ey i e gugelia e 5 ' 3 2 (250 ])

What characteristics can be assigned to monsoon climate that succeeds in
feeding more than 50 percent of the world population residing in Monsoon
Asia ? (250 words) '

Ty wita o, Afgernet & deftm g 199 waTed) % WHINER AR e & Wi
& w71 33 & | 37 sty o Afgernedt ¥ gug gew g R fGag w0 9 2 (250 wis1)
The women’s questions arose in modern India as a part of the 190 century
social reform movement. What were the major issues and debates concerning
women in that period ? (250 words)

Tods WG § onfifehdr foRw WehR WTEEIRERAT H ®WARG ® TR, FERT TH e
A LA §U HTHehAT Td HIEIGTERT o Hed fawe shifsie | (250 ¥155)

Distinguish between religiousness/religiqsity and communalism giving one
example of how the former has got transformed into the latter in independent
India. (250 words)

“ger SeNfieht FE % w9 § wR H wgfg T IR F U AT G fQu €, w7y a9

# 73 gae| oft Yo L @ § 17 Screwn |fgd 39 e 6l gite T | (250 %)

“The growth of cities as I.T. hubs has opened up new avenues of employment,
but has also created new problems.” Substantiate this statement with
examples. (250 words)

5TH-G-GSO 4
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Please read each of the following instructions carefully before attempting questions.
There are TWENTY questions printed both in HINDI and in ENGLISH.
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The number of marks camed by a question/part i1s indicated against it
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provided. No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions No. 1 to 10 should be in 150 words, whereas answers to Questions
Mo. 11 to 20 should be in 250 words.

Keep the word limit indicated in the guestions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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7.

WA Fen faoma & Jm adnm v 6 amaen | ==t $ifso ) (ss 150

W=l # F)
Safeguarding the Indian art heritage is the need of the moment. Discuss. (Answer in
150 words) 10

Wime Sfoee i gEEr # A o o il % gl o Ao o st
Fifam | (Iw 150 =51 7 F)

Assess the unportance of the accounts of the Chinese and Arab travellers in the
reconstruction of the history of India. (Answer in 150 words) 10

AT ad § e T % e F wee W W wen | (I 150 v A §)

Throw light on the significance of the thoughts of Mahatma Gandhi in the present
times. (Answer i 150 words) 10

arem wefies AafEes 9owe wuEl (and. @w, A, e, ) 6 a1
® 7 g AaiEeT # 5 WeR eEs § 7 (S 150 v A §)

Why is Indian Regional Navigational Satellite System (IRNSS) needed 7 How does
it help in navigation 7 (Answer in 150 words) 10

WA ATehtes Wewl & Aanedl A T s mm s A W ® 7 (W 150 =1 A ©)

Why is India taking keen interest in resources of Arctic Region? (Answer in
150 words) 10

‘Hew wm F wfonfia $if ok e fedfel # wmd sfer @ we fifio
(9 150 w=1 | ¥)

Define mantle plume and explain its role in plate tectonics. (Answer in 150 words)
10

wadl witfeafedt w ‘meesEt (T W) ¥ e & wn-wm oform @R #
(I 150 9/=51 7 3)

What are the consequences of spreading of ‘Dead Zones' on marine ecosystem ?
(Answer in 150 words) 10

EGT-G-GSO 2



10.

12.

13.

14.

“omfer e 7E-w vewEl ok wEAE w6 S a9 o 2| s, WRe i oy
AT F IS G o v #7 fonft SR ) (3m 150 W= § 3)

“Caste system is assuming new identities and associational forms. Hence, caste
system cannot be eradicated in India.” Comment. (Answer in 150 words) 10

RS i wE G e sepm & fafie s & S % g, fed
ST At faemr @ | FRon wegw W g we SR | (SRO150 9= # B)
‘Despite implementation of various programmes for eradication of poverty by the

government in India, poverty is still existing.” Explain by giving reasons,
(Answer in 150 words) 10

e ) Wt deer, sifrtaaEr F e w8 feofe =t
T & 2 ==l ifim | (IR 150 o=t & )

How the Indian concept of secularism is different from the western model of
secularism ? Discuss. (Answer in 150 words) 10

Al S5 weWq & aEee § whe e @ uw sengww wE R el o
==t &l | (S 250 = F ¥)

The Bhakti movement received a remarkable re-orientation with the advent of
Sri Chaitanya Mahaprabhu. Discuss. (Answer in 250 words) 15

ﬁﬁﬁmm%mﬁﬁnﬁmﬁnﬁ,mﬁm%%ﬁm
B R (SR 250 =1 H B)

Discuss whether formation of new states in recent times is beneficial or not for the
economy of India. (Answer in 250 words) 15

e o @ WwE & wRegy Al s gbEet # 9 o d 7 s ¥ T ) s
wiepfos wewH 1 uhefia T # wwe @ € 7 (I 250 v A B)
Why indentured labour was taken by the British from India to other colonies 7 Have

they been able to preserve their cultural identity over there ? (Answer in 250 words)
15

“mﬁmﬁ{ﬁﬁﬂﬁn}ﬂnmﬁmﬁmmfmmmmtl”
weld @ A e o wER S s e & 7 (S 250 welt & 3)

“The ideal solution of depleting ground water resources in India is water harvesting
system.” How can it be made effective in urban areas 7 (Answer in 250 words)
15

3 EGT-G-GS0



15"

16.

17.

18.

191

20.

Hieht @ @ ofonfim 9 w7 WRa # weedres o wene o e ®@
waEmsd | (SR 250 = 7 T)

Defining blue revolution, explain the problems and strategies for pisciculture
development in India. (Answer in 250 words) 15

wre # sl ol 5 T v & 7 s afasd @ R =0 T s
wia st S aw | (I 250 9= # F)

What is the significance of Industrial Corridors in India ? Identifying industrial
corridors, explain their main characteristics. (Answer in 250 words) 15

WA # e Tt § smEe’ & fooge weial @ e S
R T area & fao, wfeRw, wwdm @ et §owwl @1 e Hifto |
(Fae 250 vl A §)

Mention core strategies for the transformation of aspirational districts in India and
explain the nature of convergence, collaboration and competition for its success.
(Answer in 250 words) 15

gy # wfeamat & wieeE 3, FrewR avnhes e f At ¥ g2 @ et
81 frr 2 waw fEw @ wofta fag $ife | (I 250 W= A OR)

“Women's movement in India has not addressed the issues of women of lower social
strata.’ Substantiate your view. (Answer in 250 words) 15

‘o A X e o & B Aedta wReto wiilen F1 @gE 9 €, W T
v o & 5 wetg wae # wad e aiestaes fafiead g5 v g € | gene
Fifd | (IR 250 w=t H §)

‘Globalization is generally said to promote cultural homogenization but due to this
cultural specificities appear to be strengthened in the [ndian Society.” Elucidate.
(Answer in 250 words) 15

el AT At orfen A ¥ o SEe o s ® A sl e % R Iwe)
2 | uges el FI WegT W gY@ atbg | (S 250 1A i

‘Communalism arises either due to power struggle or relative deprivation.” Argue
by giving suitable illustrations. (Answer in 250 words) 15

EGT-G-GS0 4
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TIET | Ifhaa Aream & JfAfs 37 (4] aregm 4 forgd 10 3w W FF 37 T8 46 |

97 &1 1 & 10 7% HT I 150 g1 § 797 T97 ACAT 11 T 20 T &7 I7 250 91551 4

giferg |

o7l § §ha 1eg AT # &I § 0ET |

Y37 T -3 Jieashi 7 @It 918 T i 53 37947 §53 & WIFT H1 Qo He g [
Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting
questions :

There are TWENTY questions printed both in HINDI and in ENGLISH.

All questions are compulsory.

The number of marks carried by a question / part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the
authorized one.

Answers to questions no. 1 to 10 should be in 150 words, whereas answers to
questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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Q1.

Q2.

Q3.

Q4.

Q5.

Qs.

Q7.

YRS el § 7e URRATE U Ja1-sifdears awi sl S9mr Hhifs |
(150 weal # I Eifom)
Highlight the Central Asian and Greco-Bactrian elements in the Gandhara art.
(Answer in 150 words)

1857 =1 fawaa forfest s o qaad! &t ast & an-ar gfed S @ 98 T g
o1 Iy o7 | gErse i | (150 wsel # 3w i)

The 1857 Uprising was the culmination of the recurrent big and small local
rebellions that had occurred in the preceding hundred years of British rule.
Elucidate. (Answer in 150 words)

Ifad waed & AT EIPRT R U UgEH % 3gWd % HEd GEEdrsl i
wdeor i | (150 wedi § I &)

Examine the linkages between the nineteenth century’s ‘Indian Renaissance’
and the emergence of national identity. (Answer in 150 words)

Afvges a1 1 YaTe ST 9 W WG 6, ISET & {1, Aehod HIfT |
(150 vrsai ® I <ifo)

Assess the impact of global warming on the coral life system with examples.
(Answer in 150 words)

it o bR o HRon | oaEt i o adia wiitfeufadht 1 sre @ 6
T HEwd 1 o HIfT | (150 wedl § I difr)

Discuss the causes of depletion of mangroves and explain their importance in
maintaining coastal ecology. (Answer in 150 words)

F1 gefires gega-snariE fafmtor i writfs yra 4 o & diefe w6 § 9w
B Tehdt & ? (150 Wsai o I AfS)

Can the strategy of regional resource-based manufacturing help in promoting
employment in India ? (Answer in 150 words)

IR-afeedt ARa & FN-snaid @ THEu I F TR % HReh WSt
Hifsw | (150 gt # I o)

Discuss the factors for localisation of agro-baséd food processing industries of
North-West India. (Answer in 150 words)

SDF-G-GSU .
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Q8.

Q9.

Q10.

Ql11.

Q12.

Q13.

Q14.

A R AT W R S S w A T § st a2 o =

I | (150 wegi # IeR ifw)

What makes the Indian society unique in sustaining its culture ? Discuss.
(Answer in 150 words)

“wfgen TRt SEE g3 @ FEba @ 6t Ft 2 17 == Hii |
(150 wegi # 37 Eifom)

“Empowering women is the key to control population growth.” Discuss.
(Answer in 150 words)

YHTAET o T T A HTehide TATSA o THA FA1-T AT @ 2
(150 &3} H I 2if)

What are the challenges to our cultural practices in the name of secularism ?
(Answer in 150 words)

Tieftardt srawen & dA faftm @i 3 Uegard) e Hi gge U THg S 41 |
freamgds T2 HIfT | (250 wsd] # I i)

Many voices had strengthened and enriched the nationalist movement during
the Gandhian phase. Elaborate. (Answer in 250 words)

1940 % I o A Tl &=l ht Ufshar &1 Ffed s | feifesr amnfsaes &=
&1 yfEreRt 1 AT HINT | (250 Tea) § I i)

Assess the role of British imperial power in complicating the process of
transfer of power during the 1940s. (Answer in 250 words)

s i o amdiht wa widiet swifadi 3 snyfas fava 6 sramfaT e Jr
fafifa <t off | (250 weql & IR Eifr)

Explain how the foundations of the modern world were, laid by the Americén
and French Revolutions. (Answer in 250 words)

S fdee (AT ©E) 1 1 Ada" & ? WA | I8 fRw yew stk fhm @mm
Trefrera: - 2 2 (250 wsai ¥ 3 difSw)

What is water stress ? How and why does it differ regionally in India ?
(Answer in 250 words)
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Q15.

Q16.

Q17.

Q18.

Q19.

Q20.

T TR G @ R T o T % w8 R

g wTfud feham < Tehar 8 2 (250 Wrsal # I )

How can the mountain ecosystem be restored from the negative impact of
development initiatives and tourism ? (Answer in 250 words)

a8 IR frwredl (Ypisae) W&l Aewtes gias fFe TR wRa % g snfdw
forarar &t st B 2 (250 weal o IR Afom)

How is efficient and affordable urban mass transport key to the rapid economic
development of India ? (Answer in 250 words)

HEMTR 9W¢ 3R et TRl aggt Sftaq 3ft affg waferer w3 ywmel o fora-foma
TR T T 2 2 39 IaE €T | (250 wsgt # IR i)

How do ocean currents and water masses differ in their impacts on marine life
and coastal environment ? Give suitable examples. (Answer in 250 words)

1 AR g H FelA Y WRA o AIEpah &1 8 ? IGEWN 6 Y FOER W
HIRT | (250 w1 # I Eifo)

Do we have cultural pockets of small India all over the nation ? Elaborate with
examples. (Answer in 250 words)

W ® Afgenetl & Tme a9y iR Tum gefug faw gfoat wna & 2
(250 wregt # I Eif)

What are the continued challenges for women in India against time and
space ? (Answer in 250 words)

1 g9 aAfvas e & fau st vy vgem % @ w1 @ § 2 =9t Hifm |
(250 wrsgt | I i)

Are we losing our local identity for the global identity ? Discuss.
(Answer in 250 words)
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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are TWENTY questions printed both in HINDI and in ENGLISH,

All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which mu‘st be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in thg space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be clearly

struck off.
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}1/ @mewﬁﬁawmgﬁﬁm%m%mﬁn@wwﬁ@@w
gfafaferea st 3 | foer=mr hifd 1 (150 wegi # wer v

The rock-cut arch1tecture represents one of the most important sources of our
knowledge of early Indian art and history. Discuss. (Answer in 150 words) 10

Q2. wra i Hg ol ¥ sfer § et et i Wyl = 2 | Rivdior Hifa |
(150 wreqf & wer ARMT) -
Pala period is the most significant phase in the history of Buddhism in India.
Enumerate. (Answer in 150 words) ; 10

Q aﬁﬁqaﬁﬁﬁﬁqﬁu@aﬁﬁmmmwmwmﬁml
/ (150 wregi # Ie i)

Evaluate the policies of Lord Curzon and their long term implications on the
national movement. (Answer in 150 words) 10

yw&-srm SECY mﬂfrﬁﬁa gt &1 ferdem Afrg | (150 wdl & 3o A
Discuss the geophysical characteristics of Circum-Pacific Zone.
(Answer in 150 words) 10

Q5. mm%ma%wmﬁmm%ﬁ@?ﬁ%lmvﬁa%aaﬁﬁaﬁm
/ﬁﬁql(wom@ﬁwﬁﬁm) |

The process of desertification does not have climatic boundaries. Justify with
examples. (Answer in 150 words) ' : 10

/ W%W%WWW%WWWWWWWW?
(150 wrsat # I i)

How will the melting of Himalayan glaciers have a far-reaching impact on the
water resources of India ? (Answer in 150 words) 10

Q7,5 M # g T $Ema JEi i = e % W @ g Rl b1 e wfa o
AT | (150 T1eq) § I Afvre) | |
Account for the present location of iron and steel industries away from the

source of raw material, by giving examples. (Answer in 150 words) 10

SIg-Hh{deh YRS TSt 1 Foer § wn S K reifiehar Fum @ T R 2 Serewi
/ Tfead faega I AR | (150 7=af # IR &)

Has caste lost its relevance in understanding the multi-cultural Indian

Society ? Elaborate your answer with illustrations. (Answer in 150 words) 10

URC-G-GSU . 2
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y 19 T 3 s 3 w7 oS @ e R 2 A % | R G
i (150 T & I ‘cfrﬁﬂl)
COVID-19 pandemic accelerated class inequalities and poverty m. Indla.
Comment. (Answer in 150 words) | | LR

Q10 9 eHa § fr s o anfi s g wiepkes gEw #1 o S e
2 20 AIRT | (150 T=3T A I ART) N
Do you agree that regionalism in India appears to be a consequence of nsmg
cultural assertiveness ? Argue. (Answer in 150 words)

10

10

Q11. Waﬁqwmﬁmﬁﬁaw@ﬁmaﬂtmiﬁmwﬁwﬁ
Teraq i o R | R iR | (250 gt # 3w )

Indian philosophy and tradition played a significant role in: conceiving and
shaping the monuments and their art in India. Discuss. (Answer in 250 words) 1_5

Q12. Wm%w@aﬁfﬁm@aww%g@awqﬁm% |ﬁcqvﬁ
R | (250 vred) § I EfT) - -

Persian literary sources of medieval India reﬂect the sp1r1t of the age.

Comment. (Answer in 250 words)

. 1920 % <IH T LA mﬁmﬁﬁmw@ﬁwmaﬁtmw
wmlﬁ%wﬁml(%om@ﬁwaﬁm) -
Since the decade of the 1920s, the national movement acqulred various

ideological strands and thereby expanded its social base Discuss.
(Answer in 250 words) 15

14. Ffedi =1 g & e g4, maﬂiaﬁawqﬁaﬁﬁﬁra—gmmﬁﬁ?
TS 1 SqgEE guTdH ¢ Tl & | ST glE HiT |
- (2505@1‘#3?1(?3%{&)

The interlinking of rivers can provide viable solutions to the mu1t1-d1mens1ona1
inter-related problems of droughts, ﬂoods and interrupted ' navigation.

Critically examine. (Answer in 250 words) o 15

Q Wﬁm&ﬁumﬁﬁqﬁ%mmqagﬁﬁﬁwm%ﬂaﬁiﬂ‘m% ¥ s
&G o RV TSy | T frhor < 3T ot e | (250 =g & I¥ART)
Account for the huge flooding of million cities in India including the smart ones

like Hyderabad and Pune. Suggest lasting remed1a1 measures.
‘(Answer in 250 words) 15

15
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o T | (250 W1} & 3o A

India has immense potential of solar energy though there are regional
variations in its development. Elaborate. (Answer in 250 words) 15

m%wwﬁﬁ@%@mqﬁaﬁqmmwquﬁw
IR | (250 weal § IR )

Examine the status of forest resources of India and its resultant impact on

climate change. (Answer in 250 words) 15
NG H fafqud v wgere A F wnw e # 8 ?@%?mfsﬂt
2T | (250 W) H ¥R Afe)
Is diversity and pluralism in India under threat due to globalisation ? Justify
your answer. (Answer in 250 words) 15
fe-Farsit wa weedl grr o B qEm @ it I g ¥ | w0 AW el
TEAd & ? (250 Wsal § It &)
Customs and traditions suppress reason leading to obscurantism. Do you

15

agree ? (Answer in 250 words)

mﬁ%%wmﬁ%awﬁﬁﬁﬁmw%wﬁﬁw%m%?
foega 3@ ST | (250 wrsgi § I i)

How have digital initiatives in India contributed to the functioning of the

education system in the country ? Elaborate your answer.
(Answer in 250 words) 15
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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.
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Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

Q7.

ufth @Tfeed 1 THla F1 Yeaied HA §L UAT GEpia # 305 e &1 FaRo
HINT | (150 wsgi § 3 &)
Evaluate the nature of the Bhakti literature and its contribution to Indian
culture. (Answer in 150 words)

I A T R TS & foow wed # mmfyes-anfifes guwr steiedl % Sea™ qen
foerma =1 w@ifera Hifore | (150 w2 # 3w Aifs)

Trace the rise and growth of socio-religious reform movements with special
reference to Young Bengal and Brahmo Samaj. (Answer in 150 words)

W fmedi & i #t ufEa § g yeEte gl ud amiiseh-aies i
TS T 3Thed HIfT | (150 T3] # I &)

Assess the main administrative issues and socio-cultural problems in the
integration process of Indian Princely States. (Answer in 150 words)

femrer &= qen ufvedt el & Yot & fafim srol 1 s T iy |

(150 w1sg1 ¥ IR <iforw)
Differentiate the causes of landslides in the Himalayan region and Western
Ghats. (Answer in 150 words)

TETHTAS % % § 8§ Th & & Fag WA & G AN 0 Tebed Ble] 341G
(Sf.2r.dt.) ® s %9 gfawrd &1 TeH od | faesen i |
(150 w2 # I &)

Despite India being one of the countries of the Gondwanaland, its mining
industry contributes much less to its Gross Domestic Product (GDP) in
percentage. Discuss. (Answer in 150 words)

el 9ff I & foau 5@ et @ yfa-sgr % wafefis wme w=n 8 2 sewwi
wfed gwesT | (150 Wegt # 3T Aif)

What are the environmental implications of the reclamation of water bodies
into urban land use ? Explain with examples. (Answer in 150 words)

2021 # "fed searamel fowpiei it afvas geaiett o1 3g@ w g af Eiawm w
3 GRI 98 UWTE Wl Fa1sT | (150 Yeal # I Aifere)

Mention the global occurrence of volcanic eruptions in 2021 and their impact
on regional environment. (Answer in 150 words)
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Q8.

Q9.

Q10.

Ql11.

Q12.

Q13.

Ql14.

W 1 Ueh IUHETGIY &1 AT w1l 2 2 fereamgdes 3ew Afw |

(150 wrsgi # IR difow)
Why is India considered as a subcontinent ? Elaborate your answer.

(Answer in 150 words)

AU % T 3R Hiehfas Jonferdl 1 qemn § snfear 7 qomett i fafimedr
1 Sita HIfT | (150 =gt # I )

Examine the uniqueness of tribal knowledge system when compared with
mainstream knowledge and cultural systems. (Answer in 150 words)

wred # wfgerati % qefthenor 1 wfean i g’ 6 gl @ e S |
(150 wrsai # I &fv)

Examine the role of ‘Gig Economy’ in the process of empowerment of women in
India. (Answer in 150 words)

Tt i ftem 7 fohw o 9% saes @A STEeR 1 enER d9R fRar 2
feoaoft hifse | (250 wsgi # 3w if)

To what extent did the role of the Moderates prepare a base for the wider
freedom movement ? Comment. (Answer in 250 words)

HHEANT RIS Td HiGHT a1 3= & 2N W] el % w=arenss S
! T HIRMT | (250 sal § IR )

Bring out the constructive programmes of Mahatma Gandhi during
Non-Cooperation Movement and Civil Disobedience Movement.
(Answer in 250 words)

“qt T ggi & ot S TS el % forg ue it g 3w g 7 5
U I YA HIT | (250 s31 § I difdmo)

“There arose a serious challenge to the Democratic State System between the
two World Wars.” Evaluate the statement. (Answer in 250 words)

fova i wp@ wia sEensii % G w1 G Ieorg IR qen 3T T taw
T TS JHTE T TR Ui HITC | (250 weaT F IR )
Briefly mention the alignment of major mountain ranges of the world and
explain their impact on local weather conditions, with examples.

(Answer in 250 words)
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Q15.

Q16.

Q17.

Q18.

Q19.

Q20.

ke 1 % 3R sierhiess & e &1 fiue ffe @ ster-ster @ | geeft
T T % T@EY AR 6 Y AiafafEl W yEe Sed 8 2 w9 i |
(250 wea] # I Q)
How do the melting of the Arctic ice and glaciers of the Antarctic differently
affect the weather patterns and human activities on the Earth ? Explain.
(Answer in 250 words)

fiva § @i 9@ % s faawn & sgemamdt ywmEt i fae=r i |
(250 3reg1 # I difo)

Discuss the multi-dimensional implications of uneven distribution of mineral
oil in the world. (Answer in 250 words)

WA % W WE § A, I % fachE § I BN AT qed Ariieeh- AT
HTE #9182 (250 gt § IR )

What are the main socio-economic implications arising out of the development
of IT industries in major cities of India ? (Answer in 250 words)

e e % W Sevdl ol faeeAT G §U WRG § 3 W H % SYEl W
fereqa wehTer SfeTT | (250 Fea1 H ITR i)

Discuss the main objectives of Population Education and point out the
measures to achieve them in India in detail. (Answer in 250 words)

frt @ R 2 AfFas guw Y 98 FA ywifaa A R 2 1 I8 AR FHIS Hl
off i T @ R 2 (250 wsal § I )

What is Cryptocurrency ? How does it affect global society ? Has it been
affecting Indian society also ? (Answer in 250 words)

TR TS TR S gedi # fiatar e S @ @ 2§ B a
aftad=t @1 fereror dfSe | (250 wegt § I )

How does Indian society maintain continuity in traditional social values ?
Enumerate the changes taking place in it. (Answer in 250 words)
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U-Ux et fadw s

FHOAT WA T IW A A gF Freafafaa y@w smea w s o3 -
T | v fou o E S et ofik st ST A B € |

Tt weA s € |

TS U /AW & fore fraa siw s v fog o €

! & I SEt "wrew # oy s =i, e s suss waw-u # fen wan @, ik =
AW HT TWE Ioi@ WH-Tg-9R (FH.0.) gfeem & gu-y8 ® ffde wm w fen s
=rfen | Sferfaa wemm & sfdfes s Tt wem § o 10 SR w— A s = el |

WY HWEAT 1/ 10 % T Ja< 150 a3t H qAT WA €T 11 | 20 q% 1 I 250 st |
aifg |

WAt § 3 e dw @ e F W |

W-HE-IoX YIEret § @rell B3 T HIE g8 HTa1 Y8 F WA H i FeE G |

QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.
There are TWENTY questions printed both in HINDI and in ENGLISH.

All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions No. 1 to 10 should be in 150 words, whereas answers to Questions
No. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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Wy W 5 Aogeae aRdE 6fed & gideer S® gk & I St 6l
wfafafies et R | (150 w=at # IW Q)

How will you explain that medieval Indian temple sculptures represent the social
life of those days ? (Answer in 150 words) 10

sfteriy wrdg famfedt areh Sw e it ¥ W qeweE WRAE ATEh 6
Wﬁa&mﬁm@%ﬁ%ﬂﬁmﬁﬁ@?wml
(150 ¥=al # I )

Why did the armies of the British East India Company — mostly comprising of
Indian soldiers — win consistently against the more numerous and better equipped
armies of the then Indian rulers ? Give reasons. (Answer in 150 words) 10

ﬁqﬁ%ﬁmmﬁmﬁw@%m%ﬁmq@ﬁméﬁ%@ﬁ
aﬁﬁwﬁ%?mwﬁl(lso O EARK: i )

Why was there a sudden spurt in famines in colonial India since the mid-eighteenth
century ? Give reasons. (Answer in 150 words) 10

wrafies wgEt @ Rdvane @ wER @ i AR | (150 et # SR )
Describe the characteristics and types of primary rocks. (Answer in 150 words)
10

R e R R R A T SE ¥ fe den-geed Yaata F
fore fraffa -3 & o & w=f | (150 U= F SW )

Discuss the meaning of colour-coded weather warnings for cyclone prone areas
given by India Meteorological Department. (Answer in 150 words) 10

‘T 30 g e - & w= A | (150 =i H ST Q)

Discuss the natural resource potentials of ‘Deccan Trap’. (Answer in 150 words)
10

‘WRA T UaT Fet B GUET 1 ghEn SRt uE I difta el faer & @ won
F g | (150 Ysa H SR 3)

Examine the potential of wind energy in India and explain the reasons for their
limited spatial spread. (Answer in 150 words) 10

CRNA-X-GSU 2



10.

11.

12.

13.

14.

It gFreEl WG WIH B % IRl B qUT oA 9 | e
(150 w=at & SR )

Explore and evaluate the impact of ‘Work From Home’ on family relationships.
(Answer in 150 words) 7 ; 10

'wﬁma@%%ﬁﬂwq&h&aﬁﬂam%mﬁwza@mm

fore oRe wwafa ® 7 (150 =at § S Q)

How is the growth of Tier 2 cities related to the rise of a new middle class with
an emphasis on the culture of consumption ? (Answer in 150 words) 10

WRA & ST w6 Ryt @ e g fee fafie e & seafa o=
foret Terer oft § wEr s =fRT 2 (150 9=RT § I Q)

Given the diversities among tribal communities in India, in which specific contexts
should they be considered as a single category ? (Answer in 150 words). 10

T TE Yol T IO 3R WNTEfeR gied Seiedl Saredt & wem ¥ fReR
¢ @ T R ® | Soeur afed fEm )| (250 9= IR )

The political and administrative reorganization of states and territories has been a
continuous ongoing process since the mid-nineteenth century. Discuss with
examples. (Answer in 250 words) 15

TR TR SR GG # E-F R Ad-FE F aANeE W a4 it |
(250 ¥=q1 A T ©)

Discuss the main contributions of Gupta period and Chola period to Indian heritage
and culture. (Answer in 250 words) 15

AR frere, e 3R argaen § e ud guw it el & 7w W fRR =X
(250 9= # I 3)

Discuss the signiﬁcahce of the lion and bull figures in Indian mythology, art and
architecture. (Answer in 250 words) 15

wgh el @ R w A ot A @ E 7 e S wesdn i v
IREE & 90 & | (250 =81 § I <)

What are the forces that influence ocean currents ? Describe their role in fishing
industry of the world. (Answer in 250 words) 15

3 CRNA-X-GSU



15.

16.

17.

18.

19.

20.

* TR IAGE U & Fw & @i wRa gu ST grr wmer fer 9 e e

iR qet w i i | (250 a9 2)

Describing the distribution of rubber producing countries, indicate the major
environmental issues faced by them. (Answer in 250 words) 15

JRIET AR A oy 9 WAl & He™ ol Sea@ i |
(250 v=at # S F)

Mention the significance of straits and isthmus in international trade.

. (Answer in 250 words) 15

HIVHSA aIgASH 1 TH HewdqUl Wd & S Aew ufwarst @ fuifa e R
F ? (250 TR H IN 3)

Troposphere is a very significant atmospheric layer that determines weather
processes. How ? (Answer in 250 words) 15

HRAE TS & Wfy, & qur o & snEieR 9w f fadwar @ fRee fift
(250 a1 # SR 3)

Analyse the salience of ‘sect’ in Indian society vis-a-vis caste, region and religion.
(Answer in 250 words) 15

1 aftea, AR @ age ger aw & S i ¥ wrd w9 i
FA © ? IHETT IR S | (250 =T H W ©)

Are tolerance, assimilation and pluralism the key elements in the making of an
Indian form of secularism ? Justify your answer. (Answer in 250 words) 15

mﬁwﬁﬁgﬁmﬁuyﬁwwwaﬁm%ﬁﬁaﬁm%ﬁm
el H wE | (250 y=a H SRR Q)

Elucidate the relationship between globalization and new technology in a world
of scarce resources, with special reference to India. (Answer in 250 words) 15
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TyA-u Tt vty srge

(FFn R F I W A @ Fefifed 1@ sgen w wEEs )

7o W R g & S R oiv oieht 3N A B §)
asft v fEd 7
T W/ ¥ oy P o e wre g g f)

T % I IE wiitpa W § frd s ke, R Sga s waw-ua § R T R, o mem w we
IV TH-HE-IW (Fo Ho To) YR F gays w Fffe e ® e s =few) wftepa wrem & foRe o=
et wem A for@ T I W B o T faem)

T HEAT 1 A 10 T TAE HT IW 150 TS H 9U7 U¥H GEAT 11 A 20 T AAE HT IW 250 R A
Eus

v # §f| wse-dim @ em § )
T -HE-IR YEH § el SIS ¢ HE Y8 Ha I8 F AW B Qia: he A

GENERAL STUDIES (PAPER-I)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the
authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words each, whereas answers to
Question Nos. 11 to 20 should be in 250 words each.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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1.

T Wid % fawm B fewm & imifers st B e ) @ i)
(W 150 w=at ¥ €ifvre)

Explain the role of geographical factors towards the development of Ancient India.
(Answer in 150 words)

HRTeHT Tt R Wiy TR # e ik umer F wfy @9 § w= o o
(S| 150 wi=st # €ifvmg)

What was the difference between Mahatma Gandhi and Rabindranath Tagore in
their approach towards education and nationalism? (Answer in 150 words)

fog & faftm 39 & W99 & A A 8N 9 amle-aniis gwEt # SR fifg)
(IW 150 wi=at # difsm)

Bring out the socio-economic effects of the introduction of railways in different
countries of the world. (Answer in 150 words)

SwieHfEta I # @@ g W oy gRkadd % aRomd i faea fif
(3| 150 7=t # difve)

Discuss the consequences of climate change on the food security in tropical
countries. (Answer in 150 words)

A faw S S F FEE A Iucrear o wEE ¥ de A H @ w7
(3W 150 =3t # o)

Why is the world today confronted with a crisis of availability of and access to
freshwater resources? (Answer in 150 words)

e %@ s7q €7 3 g F o T geE &l w1 Fin W= w@ 7 (w150 vt i)

How are the fjords formed? Why do they constitute some of the most picturesque
areas of the world? (Answer in 150 words)

<fqor-ufim A o & gda’ (qff) w6 weenan 27 39 Remwes denf gaw womeh Y &9 %
ATEpiah AR B HA gwifed T 27 (W 150 w3t # difvg)

Why is the South-West Monsoon called ‘Purvaiya’ (easterly) in Bhojpur Region? How
has this directional seasonal wind system influenced the cultural ethos of the
region? (Answer in 150 words)

1 A9 dd € 6, smyfie sra § faame wF @R % w9 8 o e @ o @ 27
(I|W 150 w3t # €ifvm)

Do you think marriage as a sacrament is loosing its value in Modern India?
(Answer in 150 words)
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10.

11.

12.

13.

14.

15.

16.

RAE WA H Fagafadl § fengen #@i 9g @ §7 wWe fifv) (IW 150 vt ¥ difvmw)

Explain why suicide among young women is increasing in Indian society.
(Answer in 150 words)

o= W1 ARA F e 37 WaRd BH 3 A A | = F T | 6 gwE == fifv
(IW 150 W=t # <ifvmr)

Child cuddling is now being replaced by mobile phones. Discuss its impact on the
socialization of children. (Answer in 150 words)

afeeh warst iR el it e Fvard @ &7 w0 o AR ¥ B I A 35 Rt wrea e &

apft oft yafera &7 (W 250 w=at # i)
What are the main features of Vedic society and religion? Do you think some of the
features are still prevailing in Indian society? (Answer in 250 words)

Hoddd HA & IRA fFY T o2 aAeh aeaa & A7 I ahAl seaEl 3 TR g |

wifera foran en? (S| 250 w3t # i)

What were the major technological changes introduced during the Sultanate period?
How did those technological changes influence the Indian society?
(Answer in 250 words)

ard # Shufafies e 3 el @ HA gwifed fen i sufafies sefer % wR sRard

gfafsean s fi? (IW 250 w=3t # difsm)
How did the colonial rule affect the tribals in India and what was the tribal response
to the colonial oppression? (Answer in 250 words)

WRA ) T dRE e gt w ot fifg ok 3 4§ ke w@ B Rl w

T ETfeTe | (W 250 vi=at # difvry)
Comment on the resource potentials of the long coastline of India and highlight the
status of natural hazard preparedness in these areas. (Answer in 250 words)

WA H Wiepfas aeata i fafawm % g st st # weaifig sl s fdwm fifw) Tra %
Tui-a4 &3 # IASIa RG] F Hew F HeH HIT| (IW 250 Wit # difsw)

Identify and discuss the factors responsible for diversity of natural vegetation in
India. Assess the significance of wildlife sanctuaries in rain forest regions of India.
(Answer in 250 words)

WA & wE e i fewm % W wemare s # fiea w6 gan? (IW 250 W= # i)

Why did human development fail to keep pace with economic development in India?
(Answer in 250 words)
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17. 1960 % 39 & Y& G AET@s 4, WRd fae ¥ v g8 @ Frafas % &9 % 3w Fro &)

(IW 250 =t & Hifsw)
From being net food importer in 1960s, India has emerged as a net food exporter to
the world. Provide reasons. (Answer in 250 words) 15

18. ¥ WA WM # wehew el H iR off ik gormmwr afw/w wRM w @ S ??

(3| 250 w3t # i)

Does urbanization lead to more segregation and/or marginalization of the poor
in Indian metropolises? (Answer in 250 words) 15

19. YRa ¥ Sdg Sy nishier iR fRer 3 @ =t 27 '(m250!rré1ﬁ?ﬁi%m)
Why is caste identity in India both fluid and static? (Answer in 250 words) 15

20. T YT TH QNIRRT IW-ITRAE degasyn & Wi 6 @ fifm)
(IW 250 =t § i)

Discuss the impact of post-liberal economy on ethnic identity and communalism.
(Answer in 250 words) 15

* k k
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. FAfeH ¥ IM-ARF FaA a9 qmriis ik afis &3 § afeq wRaddt #t W@iftea i)
(I® 150 w=at # i)

Underline the changes in the field of society and economy from the Rig Vedic to the
later Vedic period. (Answer in 150 words)

. <& wrd A w7 Aiied F o #§ Fih F ugal F AR W geama wifv)
(IW 150 w31 ¥ i)

Estimate the contribution of Pallavas of Kanchi for the development of art and
literature of South India. (Answer in 150 words)

. 9 BH-H v off % Fro wRa 91 ke TE gen? @ wRomel ) e iR
(W 150 w=ai # <ifv)

What were the events that led to the Quit India Movement? Point out its results.
(Answer in 150 words)

. U GaE % a9 W ghg o R7 9% Sweklatig el % i B % R 27
(FW 150 w3t # i)

What is sea surface temperature rise? How does it affect the formation of tropical
cyclones? (Answer in 150 words)

. B Wl A g H A8 AR AU gl B w@ o e & feemsia 39 H Rk %

s § 3R faaem fifg) (FW 150 w31 | €ifvw)
Why do large cities tend to attract more migrants than smaller towns? Discuss in
the light of conditions.in developing countries. (Answer in 150 words)
‘TEA HeA Y uREe w1 27 =arE Hifvm) (S| 150 w1 # @fsm)
What is the phenomenon of ‘cloudbursts’? Explain. (Answer in 150 words)

‘SHEiferhE T (SHmfes famer)’ i eraumen w0 {7 F0 7 3R W Rl B el suw ¥7

foeaR @ sag) (S| 150 vt # i)
What is the concept of a ‘demographic winter’? Is the world moving towards such a
situation? Elaborate. (Answer in 150 words)

. iR THMQ], A fAeasran T Afgen gnfeeRw F @9 o @ wE St FRiEn Y aiered ik
FEE § Al TWER B wE § @ b Aee 27 (FW 150 =t & ifvm)

Distinguish between gender equality, gender equity and women’s empowerment.
Why is it important to take gender concerns into account in programme design and

implementation? (Answer in 150 words)
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10.

11.

12.

13.

14.

15.

16.

HHH TS~ v&1 areft Sfodt & e st faame 39 & a6 = &, frg simunfiis R
F aR # 97 w0 g9 B faa=m fifvm) (3W 150 w=ai # €ifSrm)
Intercaste marriages between castes which have socio-economic parity have
increased, to some extent, but this is less true of interreligious marriages. Discuss.
(Answer in 150 words)

o & wriforn-anfie gei @ fued # wwr, R-gwd @t @ fsh & % e fre TR @
wgam gaits 3w geme? (IW 150 w=a1 & difsw)

In dealing with socio-economic issues of development, what kind of collaboration
between government, NGOs and private sector would be most productive?

(Answer in 150 words)

"Erels e e e 3l g TE A TR wen 9 argwen 8 § Ipe SyaleREl ¥
FrO 3t ft 3% aga T A I fF s ) Roh i) (3W 250 w=a! # 4ifvw)

“Though the great Cholas are no more yet their name is still remembered with great
pride because of their highest achievements in the domain of art and architecture.”
Comment. (Answer in 250 words)

Tg FEAl FE a 3fa ¢ 6 vom fauge qoa: Aik-dgem #1 s w@a % fore o A

(3| 250 w3t # <ifore)
How far is it correct to say that the First World War was fought essentially for the
preservation of balance of power? (Answer in 250 words)

wRE # gedied 3R FER I F g F fog $eie B oleifie wifR wel a swer ofi?

(3| 250 w=at & difvw)
How far was the Industrial Revolution in England responsible for the decline of
handicrafts and cottage industries in India? (Answer in 250 words)

T 1 R e g § R froae o @ ) 9r wwa A wra-geen w6 g Fgend 2

(IW 250 wr=3i & <ifow)
The groundwater potential of the gangetic valley is on a serious decline. How may it
affect the food security of India? (Answer in 250 words)

A St it wRm Afefaw w0 §7 3 & 3@ 9 §7 (3| 250 w=1 # €if)

What are aurora australis and aurora borealis? How are these triggered?
(Answer in 250 words)

frt =1 27 AR H @t F e F & § it e w6 @ wm €

(I 250 =31 & difs)
What is a twister? Why are the majority of twisters observed in areas around the
Gulf of Mexico? (Answer in 250 words)
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5 X mmwﬁ?%ﬁﬁw%mmﬁa%?mﬁmmmwmw%?
(3W 250 w=a1 # i)

What is regional disparity? How does it differ from diversity? How serious is the
issue of regional disparity in India? (Answer in 250 words) 15

18. TuHal iR gt =@ B e Afedt F aeE, onft q@ dfud @ W ERuE g aiese
FHRTHH Hiars 1 g0 o T e @ ) feooh Hifvw) (IW 250 wr=at § i)
Despite comprehensive policies for equity and social justice, underprivileged
sections are not yet getting the full benefits of affirmative action envisaged by the
Constitution. Comment. (Answer in 250 words) 15

19. i 3 fifim o1 A goe, g @ afErika aRensdt g wed aw § gfe i R A
I ARETG Wl T4 IRER % 1Y Gl W H1 WG S 87 (IW 250 wr=a1 # i)

Globalization has increased urban migration by skilled, young, unmarried women
from various classes. How has this trend impacted upon their personal freedom and
relationship with family? (Answer in 250 words) 15

20. 3@ 3fma #1 FEATE e fifg 5 wwa f wieplos fafaum ok amnfes-enids
diaarstt % i T e gEhay g (IR 250 =41 & i)

Critically analyse the proposition that there is a high correlation between India’s
cultural diversities and socio-economic marginalities. (Answer in 250 words) 15
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